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Date_____________________

	Unit: 2
	Homework: 1

	Standard:
 Interpret the structure of expressions.

· MCC9-12.A.SSE.1 Interpret expressions that represent a quantity in terms of its context. 

· MCC9-12.A.SSE.1a Interpret parts of an expression, such as terms, factors, and coefficients. 

· MCC9-12.A.SSE.1b Interpret complicated expressions by viewing one or more of their parts as a single entity

· MCC9-12.A.SSE.2 Use the structure of an expression to identify ways to rewrite it.

	Essential Question: 
· How are terms arranged in a polynomial expression?

· How can you determine which terms can be combined when simplifying polynomial expressions?

· What does it mean for an operation to be closed in a system?

	Key Words: 
Polynomial, Constant, Monomial,  Binomial,  Trinomial,  Degree of the polynomial,  Integers, Like terms, Coefficient,  Linear, Quadratic, Cubic, Quartic, Quintic

	Recommended Resources:

http://www.walch.com/rr/00158
http://www.walch.com/rr/00159
http://www.walch.com/rr/00160

	Decide whether each function below is a polynomial. If it is, write the function in standard form. If it is not, explain why.

	1. f(x) = 3x3 – 5x + 2x2 + 13 
	2. f(x) = 5x-1 + 7x2 - 6

	3. f(x) = 17x – 8 +  3x2 + 7x4 – x5
	4. f(x) = ⅔ x5 – 13x2 + 2x –x4

	5. f(x) = 3x2 - √3 -5x
	6. f(x) = (1/x3) + (2/x) +7

	7. f(x) = 5x3 + 2x2 – 5x4 + 13 – 2x
	8. f(x) = ⅞x2 + ⅜x 3 - ⅔

	9. Polynomials can be classified by the number terms as well as by the degree of the polynomial. The degree of the polynomial is the same as the term with the highest degree. Complete the following chart. 

	Polynomial

Number of terms

Classification

Degree

classification

f(x ) = 2
f(x) = 3x – 1
f(x) = x2 – 2x + 1 
f(x) = 8x3 + 125 
f(x) = x4 + 10x2 + 16 
f(x) = -x5


	Find the sum or difference of the following:

	10. (5x2 + 2x - 8) + (3x2 – 7x – 1) 
	11. (2x2 – 2x + 7) – (x2 + 2x + 1)

	12. (7x – 5) + (3x + 8)
	13. (2x2 – 5x + 1) + (x2 + 4x) 

	14. (-2x2 – 5x + 9) – (-3x2 + 5x + 4) 
	15. (5x2 – 2xy + 7y2) – (4x2 + 5xy + 2y2) 

	16. (2x2 + x + 10) + (7x2 + 14) 
	17. (6x4 – x3 – 3x2 + 20) + (10x3 – 4x2 + 5x + 9))

	18. (-x6 + 7x2 + 11) – (12x6 + 4x5 – 2x + 1) 
	19. (-x6 + 10x3 + 5x + 6) + (12x3 – 8x + 7) 

	20. (14x3 + 8x2 – 8x – 19) + (18x2 + 5x – 14) 
	21. (11x5 – 4x4 + 19x) – (15x4 + 13x3 – 6x + 10) 

	22. (-10x4 + 2x3 + 14x2 + 15) + (5x3 – 17x2 – 13x + 8) 
	23. (-4x6 + 3x3 + 20) – (-17x6 + 12x5 – 6x4) 

	24. (10x4 + 2x3 + 4x2 + 4) + (5x3 – 17x2 – 13x + 8) 
	25. (12x2 – 9x – 15) –  (3x3 + 7x2 + 8x + 10) 


